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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Before vou ---ceee-- to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -————- ; the Kkids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) tiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used ----~--—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- 1 never thought you would get so upset about such a ---------- matter.
1) contradictory  2) consistent 3) colloquial 4} trivial

6- The police wondered about the man’s --«=-v-u-- for committing the crime.
1) inhibition 2) motive 3) impact 4) mspiration

7- While most club members have agreed with the decision, I expect Ricky to --—=--m-
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- "It is my ﬁrm ----- ,' said the candidate, "that family farms must receive
government help.
1) speculation "_} safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
---------- dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—-——- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants,

Selective herbicides kill specific targets, (11) s==-eeaee- the desired crop relatively unharmed.
Some of these act by interfering with (12) —=emememn and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) ==emae-ms all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas (14)
-------- as wildlife habitat.

Some plants produce natural herbicides, (13) ==-===---- the genus Juglans (walnuts). or the

tree of heaven: such action of natural herbicides. and other related chemical interactions. is
called allelopathy.,

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed

3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

hest choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Having no language. infants cannot be told what theyv need to learn. Yet by the age of three
they will have mastered the basic structure of their native language and will be well on their
way to communicative competence. Acquiring their language is a most impressive intellectual
feat. Linguists generally agree that the most remarkable aspect of this feat is the rapid
acquisition of grammar. Nevertheless. the ability of children to conform to grammatical rules is
only slightly more wonderful than their ability to learn words. It has been reckoned that the
average high school graduate in the United States has a huge reading vocabulary. which
includes idiomatic expressions and proper names ol people and places. This vocabulary must
have been learned over a period of 16 years. From the figures, it can be calculated that the
average child learns at a rate of about 13 new words per day. Clearly a learning process of
great complexity goes on at a rapid rate in children.

16- What is the main subject of the passage?
1) Language acquisition in children
2) Teaching languages to children
3) How to memorize words
4) Communicating with infants
17-  Which of the following is the word “feat™ in line 4 closest in meaning to?
1) Experiment 2) Idea 3) Activity 4) Accomplishment
18- Which of the following is true, according to the passage?
1) The ability of children to learn grammatical rules is much more remarkable than their
ability to learn new words.
2) The ability of children to master communicative competence is much more
remarkable than their ability to learn new words.
3) The ability of children to learn new words is as remarkable as their ability to learn
grammatical rules.
4} The ability of children to master communicative competence is as remarkable as their
ability to learn grammatical rules.
19-  What does the word “which” in line 7 refer to?

1) Their ability 2) Reading vocabulary
3) [diomatic expressions 4) Learning process

20- According to the passage, what is impressive about the way children learn
vocabulary?

1) They learn most words by age three.
2) They learn even very long words.

3) They learn most words in high school.
4) They learn words very quickly.
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PASSAGE 2:

All neurons learn the same way. This does not mean that all students learn everything equally.
There may not be different ways of learning, but students are certainly motivated by different
things and aided by different prior knowledge patterns. Because differential motivation will
influence working memory attention and produce differential learning. teachers and
instructional designers need to pay attention to different ways of motivating and engaging
different students. Also. instruction and teaching methods may affect learning differently for
students. Learning is first and foremost a product of how students are attending (allocating)
working memory. No teaching or instructional method produces exactly the same working
memory allocation or connection to prior knowledge for all students. So no single instructional
or teaching method can guarantee the same learning results for all students.

You might immediately think to vourself, say, that people from different cultures leamn
differently. We are asserting that, ar the level of the newron, human learning is human learning,
We grant all of the things that come from prior experience. It is certain that what we already
know impacts what we can learn next or most easily. We do not grant that the cellular details
are different in any way. Most important, regardless of our prior experience. new leaming
requires allocation of working memory.

21-  Which of the following would be the best title for the passage?
1) The Significance of Neurons
2) The Value of Motivation for Learning
3) Allocation of Working Memory
4) Learning is Learning
22-  Which of the following is the word “prior” in line 3 closest in meaning to?
1} Previous 2) Passive 3) Practical 4) Perfect
23- According to the passage, why can no instructional method produce the same
learning results?
1) Neurons learn in different ways.
2) It is not possible to create the same working memory allocation.
3) There i1s no best instructional method.
4) Many students are not capable of allocating working memory.
24-  According to the passage, which of the following seems to be the most important
factor that determines learning?

1) Motivation 2) Culture 3) Working Memory  4) Experience
25-  Which of the following is closest in meaning to “regardless of” in line 157

1) Due to 2) Considering 3) Excluding 4) In addition to
PASSAGE 3:

Some researchers contend that sleep plays no role in the consolidation of declarative memory
(Le.. memory involving factual information). These researchers note that people with
impairments in rapid eve movement (REM) sleep continue to lead normal lives, and they argue
that if sleep were crucial for memory. then these individuals would have apparent memory
deficits. Yet the same researchers acknowledge that the cognitive capacities of these
individuals have never been systematically examined, nor have they been the subject of studies
of tasks on which performance reportedly depends on sleep. Even if such studies were done,
they could only clarifv our understanding of the role of REM sleep. not sleep in general.

These researchers also claim that improvements of memory overnight can be explained by
the mere passage of time. rather than attributed to sleep. But recent studies of memory
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performance after sleep — including one demonstrating that sleep stabilizes declarative
memories from future interference caused by mental activity during wakefulness — make this
claim unsuitable. Certainly there are memory-consolidation processes that occur across periods
of wakefulness, some of which neither depend on nor are enhanced by sleep. But when sleep is
compared with wakefulness. and performance is better after sleep. then some benefits of sleep

for memory must be acknowledged.

26~  Which of the following is the primary purpose of the passage?

1) To argue against a particular position regarding sleep’s role in memory

2)To defend the importance of the consolidation of declarative memory

3 ) T'o summarize the most important theory regarding sleep and memory

4)To describe how various factors contribute to the effect of sleep on memory
27-  Which of the following is the word “contend” in line 1 closest in meaning to?

1) Doubt 2) Argue 3) Suggest 4) Investigate
28- What does the pronoum "they" in line 3 refer to?
1) Normal lives 2) People 3) Impairments 4) Researchers

29-  According to the passage, which of the following generalizations about memory and

sleep is true?

1) There are some memory-consolidation processes that have nothing to do with sleep.
2) Sleep is more important to the consolidation of declarative memory than to the

consolidation of other types of memory.
3) REM sleep is more important to memory consolidation than is non-REM sleep.

4) There are significant variations in the amount of sleep that people require for the

successiul consolidation of memory.
30- What is the importance of recent studies referred to in the second paragraph?
| ) They explain how the passage of time contributes to memory consolidation.

2) They reveal the mechanism by which declarative memory is stabilized during sleep.

3) They identify a specific function that sleep plays in the memory-consolidation
process.

4) They suggest that sleep and wakefulness are both important to memory
consolidation.
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